
Le compte est bon ! et vous ? 

9 10 50 9 1 2

Résultat : 992

Trouvez le mot caché ! 

♝ ♠ ♔ 🐾 ♦ ♥ ♟ ♔

♥ ♚ ♔ 🐾 ♗ ♝ ♝ ♘

∞ E E ♗ ♖ 🐾 ∞ ♘

♕ ♣ ♟ C ♚ ♥ R L

♥ ∞ ♝ ♔ ♚ ♔ ♦ C
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Solutions :

Le compte est bon ! et vous ? 

9 10 50 9 1 2

Résultat : 992

Mes solutions : 

992 = 10+2×(50×(9+1)−9) 

992 = (50×2−9)×(10+1)−9 

992 = 10×(50×2+1)−(9+9) 

992 = 10+9×(9+50×2)+1 

992 = 10×9+2×(50×9+1) 
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992 = 50×10×2+1−9 

992 = 9+(50×10−9)×2+1 

Le mot caché : CERCLE 

Les éléments de géométrie sont étudiés au cycle 3
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